REH 7 (5 9 RER)

BBIEHBINZNRE
kA BAXERERBTHLSEN
1 I A : ’
H H & (1) i) G2
BGEEE 6, 295, 320 |
B 4, 950, 0600 5 150,000 M X3 A =450,000 [

- 64 150,000 F X3 A =450,000 4
7H 150,000 FJ X3 A =450,000 [
8 A 150,000 FI X3 A=450,000 [J
9 A 150,000 M X3 A=450,000

1 0H 150,000 X3 A=450,000 H

114 150,000 X3 A=450,000 9

12A 150,000 [ X3 A=450,000
1A 150,000 [ X3 A =450,000 [
28 150,000 ©§ X3 A=450,000 [
3H 150,000 X3 A=450,000 [

FHEHBhES 1, 345, 320 |6,060 %222 HX1 A

HEIA 5, 756 |
S ERRRE 5, 743 | EHHBES
HeF B ; 13
Z Dl 0

S 6, 301, 076




X

- % (M)

: H H &
RENREE 340
T omE 0
A A&# 0
v EBEERK 0
T REE 0
F BEEELE 0
A ERETTER OVERE 0
| % FIRIE 340
7 ZFEEest 0
7 BEERE 0
I FOMBRE 0
THER , . 0
7 2%, SHEERE 0
A EATEE 0
A 1)1 ¢ 0
T ZER "o
F ERE 0
A EEERE 0
* RE 0
7 RBEROEHEE 0
7OTERRRM 0|
| = FoMEE 0
IR 2, 404, 209
7 JREEER O ERHIRE 2, 238, 997
|4 BEERE ' 94, 642
v =%, S EERS 0
T R AR—VDERERCEHRE 68, 260
F FRETR 0|
W RRE 0
* ZToMmRE 2, 310
IRWEE 210
| T 2%, BMEERB \ 0
A BEERE 210
1 v EEFR 0
= HRZE 0
Z FoMhmEE 0
| EH - REEDE 0
' 7 HIRZ 0




A BEERE 0

v RE 0

T ZFOMRE 0
KBE 0
7 =5%E 0
=Y 0

v k& , 0

= EEERE 0

| F = 0

B FOMRE 0
ERHERE 908, 327
7 ar—AER 25, 146

A HiR% 82, 667
A= 0

T EHEREHL 0

F BEMK 0

J RN aEEEMBEAE 31, 350

x RNYaEEGERY -8 652, 872

7 EOMEE - 116, 292
BEHE AR | 219, 831
7 HER 26, 210

A B R OHEEESE 192, 049

v AR — & _—2FAR 0

T ZOMEREAER 1, 572
NEE 2, 209, 584
7 &5 1, 874, 459
Atk 335, 125

T FOMRE 0
EETE 0
7 EEHOBRERROHSERE 0

A4 FRERUVEBEZBOBABRCY —2k 0
=R 256, 176
7 EBALBAER 56, 687

A BIEERE : 66, 930

U AVE—Ry NFua A ZERE 11, 559

T EBREORT AR R OMEREE 121, 000

I FOMBRE 0

' B 5, 998, 677

3 IWAXHZESIER (RA—-XH)

302, 399

KB %




